Uitwerkingen 10.6 D-toets.

1. a. Cos LA = 11:15           LA = 43°
b. LC = 180 - 90 - 43 = 47°

2. a. cos 27°= AB:35             AB = 35 x cos 27°= 31,2
b. sin 27°= BC:35              BC = 35 x sin 27°= 15,9

3. a. tan 31°= BC:7                BC = 7 x tan 31°= 4,2
b. cos 31°= 7 : AC             AC = 7 : cos 31°= 8,2

4. a. sin LA = 600: 2000        LA = 17°
b. LC = 180 – 90 - 17 = 73°

5.              F                                
                  20                                    cos LE = 15 : 20           LA = 41°
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            5                                               tan LM = 7 : 5           LA = 54°
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7. a. tan LP = 5 : 6           LP = 40°
b. tan LQ = 5 : 4           LQ = 51°
[bookmark: _GoBack]c. LR = 180 – 40 – 51 = 89°

